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S EELT ExEHE L

1 |EHRHELISE T (L=650m W=6.0m) 29,365,200( 29,000,000 365,200
2 | ATHRBRBERRISE T (L=647.4m W=5.0m) 17,766,000 17,000,000 766,000
3 lexrEnessmers #{E R & (L=500m) 950,400 900,000 50,400

F#h - 4518 (L=500m) 10,108,430 10,000,000 108,430
4 |RIRFISHARHETIS T %= (L=440.0m W=6.0m) 18,306,000( 18,000,000 306,000
5 |SHEREHEA EREBEA(SEREH2E) 1,956,960 1,900,000 56,960
6 EFMRNMKBRERLISE T % (L=166m) 9,342,000 8,000,000 1,342,000
7 |2ALTERESSIHRARMELS EMEE%ET (L=625m W=6.0m) 5,400,000 4,000,000 1,400,000
8 |/NERUTHBEREEHEEA EREBA (BESEIE, /N HRLTB-38)) 4,428,000 4,000,000 428,000
9 |KMETFELEREMMEEX FELERBEMMEREDEILT 111,971,000/ 111,971,000 0

a &t 209,593,990 204,771,000 4,822,990




